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The origin of triangle which made from circles.

For example, there are three black circles in the third step, and there are
also a circle in the first step.

Next,(third step + first step) X 3+ 2.This calculation’s diagram is first
diagram.

White part 1s dumping part.

When there are also three black circles in third step, and there are five
black circles in fifth step.

(third step + fifth step)= eight circles.

And decrease two white circles among other five circles on the right hand
edge.

(other five circles on the right hand edge) — (white circles on this line) X (the other
three circles)+—2

When as there are 18 circles in rim, there are 6 Sanhouheis.

18 X (18+6)—+—12=36-+(The circle which is on the center)

Therefore, we can find the number of the circles. We can find the volume of
quadrangular to calculate.

(25 X 3 X 2+3=5)

The rectangle which is made from (one vertical line +two width line)

And same rectangle is overlapping with the rectangle.

(vertical) X (width) X (height)=—6 therefore, we can find the all number of balls
which make cuboid.
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*The origin of triangular which made from circle.
1+2+3=(3+1)x3x%=4x3x%=6 (pieces)

1+2+3+4+--+n=(n+1)Xnx-

1+2+3+4+---+n=%n(n+1)

Work out the sum of the natural number from one to n by this formula.
*The origin of form circle

1+2+3+---+n=%n(n+1)

6n(6n+6)
12

n(6n+6)

+1 = +1

18(18+6)

%n(n+1)><6+1=

6n=the number of a circle is eighteen pieces. + 1 = 37 (pieces)

*Volume of quadrangular pyramid.
Pieces of the next to the under stair an occasion in this sentence.

(2+1)(2 +%)><2+3 =3><§><2+=5 (pieces)
The third to the under stair an occasion.
(3+1)(3+§) X 3 =4><%><3 = 42 (pieces)
The fourth to the under stair an occasion.
(4+1) (4 + %) X4+3=5xX g X 4 X % = 30 (pieces)n an occasion.

1 Lo _1 1
(n+1)(n+5)><n73 = 3n(n+1)(n+2)

We can presume from this an expression.
(A proof is omit.)

Triangular pyramid
Pieces of the next to the under stair an occasion in this sentence.

(2+2)(2+1)><2+6=4><3><2><%=10 (pieces)

The third to the under stair an occasion.
(3+2)(3+1)><3+6=5><4><3><%=10(pieces)

The fourth to the under stair an occasion.
(4+2)4+1)X4+-6=6X5%X4X % = 20 (pieces)n an occasion.

n+2)(n+1)Xn=+6 =%n(’n+1)(n+2)
We can presume from this an expression (A proof is omit.)

42 -3 =14
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RExSummary * Future task * Impression
Summary

When we solve this problem , we use arithmetic ,which is taught to Japanese
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students who is a second-year senior high school students.
| made light of this problem because | had heard that this problem is made in SarJEOUI;UtSUdankaI
Edo period . But we had difficulty to understand this problem. @ +. JLH A.D.1673

We understood ancestor s awesomeness too.
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We had difficulty using computer, so we spent many times.

Impression

When we solve this problem , we use arithmetic ,which is taught to Japanese students who is a
second-year senior high school students, so we had difficulty.
But, this experience became good preparation.
And, this ancient is different from the ancients which is read by us in the Japanese classics.
So,we had had difficult . But we enjoy reading this ancient.
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